Think About!  
Think About!  

$$\int_{a}^{b(x)} f(x) = g(x) \ge 0 \quad \text{for } a \le x \le \infty$$

$$f = g \text{ are continuous}$$
What can you say...
$$\int_{a}^{\infty} f(x) dx = 5, \quad \text{then } \int_{a}^{\infty} f(x) dx \quad \underline{=} 5 \quad \text{converge}$$

$$\int_{a}^{\infty} f(x) dx \quad \text{diverses, } \quad \text{then } \int_{a}^{\infty} f(x) dx \quad \underline{=} 5 \quad \text{converge}$$

$$\int_{a}^{\infty} f(x) dx = 3, \quad \text{then } \int_{a}^{\infty} f(x) dx \quad \underline{=} 5 \quad \text{converge} \text{ or } \text{diverges}$$

$$\int_{a}^{\infty} f(x) dx = 3, \quad \text{then } \int_{a}^{\infty} f(x) dx \quad \underline{=} 5 \quad \text{converge} \text{ or } \text{diverges}$$

$$\int_{a}^{\infty} f(x) dx \quad \text{diverges, } \quad \text{then } \int_{a}^{\infty} f(x) dx \quad \underline{=} 5 \quad \text{converge} \text{ or } \text{diverges}.$$

Comparison Test  
fig are continuous on 
$$[a, \infty)$$
 with  
 $0 \le f(x) \le g(x)$  for all  $x \ge a$   
 $g(x)$   
 $f(x) \le g(x)$ 

Example:  
Does 
$$\int_{1}^{\infty} e^{-x} dx$$
 converge?  
Compare to  $\int_{1}^{\infty} e^{-x} dx$   
 $\int_{1}^{\infty} e^{-x} dx = \int_{1}^{\infty} e^{-x^{2}} dx$   
 $= \lim_{b \to \infty} \int_{1}^{b} e^{-x} dx = \lim_{b \to \infty} (-e^{-x}) \Big|_{1}^{b} = \lim_{b \to \infty} \int_{1}^{-e^{-b}} e^{-t} e^{-t} \Big|_{1}^{b}$   
 $0 + \frac{1}{e^{-t}}$   
 $0 + \frac{1}{e^{-t}}$   
you try... Does  $\int_{1}^{\infty} \frac{1}{x^{4}+1} dx$  converge or diverge? Sustify.  
 $\int_{1}^{\infty} \frac{1}{x^{4}+1} dx = \lim_{b \to \infty} \frac{-1}{3x^{3}} \Big|_{1}^{b} = \lim_{b \to \infty} \int_{1}^{\infty} \frac{1}{x^{4}} \frac{1}{3}$   
 $0 + \frac{1}{3}$ 

Notes Page 2

$$\int_{1}^{\infty} \frac{1}{x+1} dx \quad converges \quad by \quad the \quad comparison \quad test$$

$$ex: \quad more \quad w| \quad Im proper \int \\ Deal \quad with \quad U. \quad A. \\ \int_{0}^{4} \frac{1}{x-3} dx \\ = \lim_{b \to 5} \int_{0}^{b} \frac{1}{y-3} dx + \lim_{a \to 3^{+}} \int_{a}^{t} \frac{1}{y-3} dx \\ = \lim_{b \to 5} \ln|x-3| \int_{0}^{b} + \lim_{a \to 3^{+}} \ln|x-3| \int_{a}^{t} \frac{1}{y-3} dx \\ = \lim_{b \to 5} \ln|x-3| \int_{0}^{b} + \lim_{a \to 3^{+}} \ln|x-3| \int_{a}^{t} \frac{1}{y-3} dx \\ = \lim_{b \to 5} \ln|x-3| \int_{0}^{b} + \lim_{a \to 3^{+}} \ln|x-3| \int_{a}^{t} \frac{1}{y-3} dx \\ = \lim_{b \to 5^{-}} \ln|b-3| - \ln|n-3| + \lim_{a \to 3^{+}} \ln|a-3| \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{-}} \ln|b-3| - \ln 3 \\ = \lim_{b \to 3^{$$

Try ish ....  

$$\int_{1}^{\infty} x \ln x \, dx$$

$$= \frac{1}{2} x^{2} \ln x - \int_{1}^{\infty} \frac{1}{2} x^{2} \cdot \frac{1}{x} \, dx$$

$$= \frac{1}{2} x^{2} \ln x - \int_{1}^{\infty} \frac{1}{2} x^{2} \cdot \frac{1}{x} \, dx$$

$$= \frac{1}{2} x^{2} \ln x - \int_{1}^{\infty} \frac{1}{2} x \, dx$$

$$= \frac{1}{2} x^{2} \ln x - \left[\frac{1}{4} x^{2}\right]_{1}^{0}$$

$$\lim_{b \to \infty} \left[\frac{1}{2} b^{2} \ln b - \left[\frac{1}{4} b^{2} - \frac{1}{4}\right]\right]$$
Diverges